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1101[XK1E EE 130 1300 0 1300 10 0 0 0 1620 0 756
EE 15 225 0 225 15 0 0 0 0 756 0
(&) 145 1525 0 1525
1M13|FEAS  [dLEE 450 4500 0 4500 10 0 0 0 2160 0 864
GhH 450 4500 0 4500
1141|5848 me 3 15 0 15 5 0 0 0 2700 0 1620
(&) 3 15 0 15
1201|833 E% 30 450 0 450 15 0 0 0 0 3240 0
GhH 30 450 0 450
1203[F ¥~V |EBE 100 1000 0 1000 10 0 0 0 1026 0 594
f=554 150 2250 0 2250 15 0 0 0 1296 0 1134
& 250 3250 0 3250
1204[Gih—JL [EH 10 100 0 100 10 0 0 0 0 972 0
) 10 100 0 100
1205[[F5>NAE Gb 375 75 0 75
1207| B & (D) 590 59 59 0
1221|=vE [&0) 6 8 0 8
1227[k%E EE 30 12 12 0 0.4 0 302 0 0 0 0
13 100 20 0 20 0.2 0 0 0 0 130 0
[E)) 130 32 12 20
1245 /MR EE 200 40 0 40 0.2 0 0 0 0 151 0
EE 190 76 76 0 0.4 292 0 162 0 0 0
(&) 615 161 76 85
1301 |FF EE 2 10 10 0 5 648 0 486 0 0 0
BmE 10 40 0 40 4 0 0 0 1944 0 1404
HmE 90 450 0 450 5 0 0 0 2808 0 1620
(&) 107 520 10 510
1311|F<F I B 186 744 0 744 4 0 0 0 2700 0 1944
[&0) 186 744 0 744
1321 [HA dLiEE 54 270 0 270 5 0 0 0 2916 0 2484
BiE 32 160 0 160 5 0 0 0 2700 0 2592
Eh 130 710 0 710
13B1E—<> [EE 300 45 0 45 0.15 0 0 0 0 92 0
x5 180 27 0 27 0.15 0 0 0 0 81 0
(&) 630 92 0 92
1353[ Tk =5 90 9 0 9 0.1 0 0 0 173 0 108
(&) 90 9 0 9
1355|4595 GH 400 40 0 40
1401|425 dLiEE 4 8 0 8 2 0 0 0 0 4860 0
Eh 4 8 0 8
1411 | (&) 140 70 70 0
1513[A—94> |dtiEE 150 1500 0 1500 10 0 0 0 0 1404 0
(&) 150 1500 0 1500
1521| B iz 3 30 0 30 10 0 0 0 0 3240 0
(&) 3 30 0 30
1541 [ ER dbifmE 510 10200 0 10200 20 0 0 0 3024 0 2149
EE 146 1460 0 1460 10 0 0 0 2592 0 1944
Gh 656 11660 0 11660
1603|tz)L) — =% 10 100 0 100 10 0 0 0 3240 0 1944
Gh 10 100 0 100
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1627[S=F<F & 30 90 0 90
1705| T A= =0 810 65 0 65 0.08 0 0 0 119 0 108
=0 12 48 0 48 4 0 0 0 0 5616 0
GhH 826 129 0 129
1715| KE = 20 2 0 2 0.1 0 0 0 0 378 0
GhH 20 2 0 2
1803 | E EE 600 60 0 60 0.1 0 0 0 140 0 119
=) 300 30 0 30 0.1 0 0 0 0 125 0
S 210 42 0 42 0.2 0 0 0 71 0 66
GhH 1110 132 0 132
1807|#8E E& 200 20 0 20 0.1 0 0 0 0 38 0
=% 1800 360 0 360 0.2 0 0 0 78 0 70
[E)) 2000 380 0 380
1809[L&L E% 300 30 0 30 0.1 0 0 0 0 32 0
% 2910 582 0 582 0.2 0 0 0 81 0 76
(&) 3210 612 0 612
* S FEET * 22819 54683 325 54358
2307| 25K (&) 5 50 0 50
2331 |—+{Hid |BER 150 1500 0 1500 10 0 0 0 7560 0 5400
GhH 150 1500 0 1500
2731 (/I [E)) 10 160 0 160
2821 |FEER RE 102 51 0 51 0.5 0 0 0 432 0 281
(&) 102 51 0 51
* S EEET * 519 3312 0 3312




